i alpha cl cd cm RL=5E6 alpha cl cd cm
1 2| 0.21477| 0.00636| -0.05136 1 2| 0.21462| 0.00645| -0.05132
2 4| 0.42856| 0.00662| -0.10215 2 4| 0.42853| 0.00678| -0.10219
3 6| 0.64955| 0.00719| -0.15585 3 6| 0.64688| 0.00757| -0.15469
4 8| 0.87079] 0.0089| -0.2095 4 8| 0.86734| 0.00931| -0.20815
5 10| 1.08446| 0.01092| -0.25953 5 10| 1.07809| 0.01136| -0.25702
6 12| 1.28279| 0.01332| -0.30278 6 12| 1.27379] 0.01398| -0.29942
7 13| 1.37241| 0.01452| -0.32033 7 13| 1.36075| 0.01519| -0.31614
8 14| 1.45074| 0.01628| -0.33378 8 14| 1.43456| 0.01714| -0.32817
9 15| 1.51397| 0.01762| -0.34138 9 15| 1.48369| 0.01885| -0.33068
10 16| 1.54724| 0.0188| -0.33864 10 15.5| 1.50225 0.02| -0.33024
11 16.5| 1.54708| 0.02005| -0.3322 11 16| 1.50439| 0.02049| -0.32461
12 17| 1.53331| 0.02199| -0.32274 12 16.5| 1.49441| 0.0225| -0.31612
13 17.5| 1.50337| 0.02322| -0.31044 13 17| 1.47769] 0.02433| -0.30817
Lift Coefficient, Mach=0.1 alpha cl cd cm
1 2| 0.21128| 0.00665| -0.04984
2.5 2 4| 0.42566| 0.00695| -0.10098
3 6| 0.64374| 0.00793| -0.15344
5 | [—e—RL=5E6 4 8| 0.86189| 0.00977| -0.206
5 10[ 1.07121] 0.01202| -0.25441
—=— RL=4E6
6 12| 1.26185| 0.01493| -0.29506
15 - RL=3E6 7 13| 1.34311] 0.0164| -0.30968
' RL=0 8 14| 1.41254| 0.01864| -0.32065
O 9 15| 1.44717| 0.02006] -0.31837
1 4 10 15.5| 1.45074| 0.0217| -0.31325
11 16 1.442| 0.02332] -0.30547
> 12 16.5| 1.42849| 0.02439| -0.2996
05 - 13 17| 1.39826| 0.02818] -0.29315
. P
”/ alpha cl cd cm
0 : : : 1 2| 0.24261 0| -0.06326
2 4| 0.48508 0| -0.12622
0 S 10 15 20 3 6| 0.72727 0| -0.18857
alpha 4 8| 0.96908 0| -0.25003
5 10| 1.21041 0| -0.31029

RL=4E6

RL=3E6

RL=0



0.03

Drag Coefficient, Mach=0.1

0.025 A

0.01 A

0.005 ~

—e— RL=5E6
—&— RL=4E6
RL=3E6
RL=0

5 10
alpha

15

20

6 12 1.4512 0] -0.36907
7 13| 1.57138 0[ -0.39782
8 14| 1.69142 0| -0.42609
9 15/ 1.81132 0| -0.45385
10 16 1.9311 0| -0.48107
11 16.5] 1.99094 0| -0.49446
12 17| 2.05075 0| -0.50771
13 17.5| 2.11053 0| -0.52081
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Momentum Coefficient, Mach=0.1
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